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BMEB T R/N\—I2H T )L 7{EEER PAR 72

[RE=R]

EHETILTER

(BF) F4/T1FLE 15— 6,444Y [2]=LF4—2R 5523Y [3]=7Ak 56037 SiNEL: 1464
JEfi. NET i E S B PHC 1R (OUT/IN) JEfL NET i ES il PHC 1R (OUT/IN)
1 64 O #iR B ERRE 20 84 (39/45) 51 78 fHE  #EE& JL—MuE 12 90 (48/42)
2 69 OME M RSEER 17 86 (43/43) 52 78 A BEE =mRE 19 97 (51/46)
3 690 AH EE e 15 84 (41/43) 53 78 /MU B2 =8 17 95 (49/46)
4 690 &l —F Ho®m 20 89 (44/45) 54 78 {E#% T =EHEE 16 94 (48/46)
5 69 O #Ll RE =HRE 18 87 (40/47) 55 78 Sc /MR Rih QUi 13 91 (46/45)
6 71 0EHE AKX ERRE 11 82 (39/43) 56 78 = 2 HosE 9 87 (44/43)
7 MOABH HF JL—HMIE 20 91 (43/48) 57 78 KA  EHX HO#H 11 89 (45/44)
8 710 IEE [HE HO® 23 94 (44/50) 58 78 FEF E— JL—MUE 19 97 (47/50)
9 T7T1OZ28IE RE EHRRE 21 92 (42/50) 59 78 E+@E B R/—v59v 11 89 (43/46)
10 72 O /MNE HERER e 9 81 (40/41) 60 78 ER HFE #HoH 10 88 (42/46)
11 730 = 2 s 16 89 (48/41) 61 78 K=®E wX JL—MuE 14 92 (44/48)
12 730 ER E 15 88 (47/41) 62 719 EIR BE m/i—9890 14 93 (49/44)
13 73 O IBR B K 9 82 (41/41) 63 79 /NI EE o 8 87 (46/41)
14 1BOFHE HE Ho® 20 93 (46/47) 64 79 FK EHh JL—MUE 14 93 (48/45)
15 730 & B &szE 10 83 (40/43) 65 79 3 JBA 55— AEWE 18 97 (50/47)
16 74 O E# h REE 8 82 (44/38) 66 79 KiF B =HRE 33 112 (57/55)
17 740 €3 ik REFYY 9 83 (43/40) 67 79 R¥  Hih =HE 7 86 (43/43)
18 740 #&HE Fhk =ERE 13 87 (44/43) 68 79 AH HE =HRE 10 89 (45/44)
19 7403 EX HUE 14 88 (45/43) 69 79 EE  EfT R/—VEIv 9 88 (43/45)
20 750% —% HoOLKE 7 82 (44/38) 70 79 3 LB # ERRE 23 102 (50/52)
21 15 HEN fE g 22 97 (51/46) 779 ki EE EHE 15 94 (45/49)
22 75 kS mt SHEE 19 94 (49/45) 72 80 [EF g W& 17 97 (53/44)
23 75 #E BB bHsE 4 79 (42/37) BG 73 80 {E#% HE WISy 10 90 (47/43)
24 75 JIi#k B EREE 15 90 (45/45) 74 80 Pk Bk R 18 98 (51/47)
25 75 % R B besk 19 94 (47/47) 75 80 X B mfE JL—MlA 22 102 (52/50)
26 75 f#HiRK  HE HOL 8 83 (42/41) 76 80 [MER  EA HOM 9 89 (45/44)
27 15 N\B BE #HorE 6 81 (40/41) 77 80 KAIAN BEHM =HH 16 96 (49/47)
28 715 A FE OEE 10 85 (42/43) 78 80 {ERAK DA REIERE 26 106 (53/53)
29 75 HT #—8B =H% 12 87 (42/45) 79 80 HH A s 7 87 (43/44)
30 75X EEXER == HOHS 21 96 (46/50) 80 80 ¥ Rif & ORIS—HEYY 11 91 (44/47)
31 76 [EF E— HO# 17 93 (50/43) 81 80 A%E =HEF 6 86 (42/44)
32 76 #HK i =8 12 88 (46/42) 82 80 ER BE R/3—95890 8 88 (42/46)
33 76 IRk Bl =@eE 7 83 (42/41) 83 80 EH EE EHRE 6 86 (37/49)
34 16 R ZKED BHsL 10 86 (44/42) 84 81 {EAK #HFE REEE 18 99 (53/46)
35 76 & R P PN’ | 10 86 (42/44) 85 81X #K EX Ik 12 93 (50/43)
36 76 R E— =HeE 25 101 (49/52) 86 81 =i IE2 R/AA—05Yy 17 98 (51/47)
37 76 kR % JL—MUE 16 92 (45/47) 87 81 /X TFE =HEE 23 104 (54/50)
38 76 Ik % ot 24 100 (48/52) 88 81 MY HEE EREEE 20 101 (52/49)
39 76 dtRd EFM JL—Mus 18 94 (43/51) 89 81 E BE— EHEE 17 98 (49/49)
40 77 % & HHEX RESEE 15 92 (48/44) 90 81X Ak Fth nBREE 14 95 (46/49)
41 71 EBR NN 6 83 (43/40) 91 81 ER £X BB 13 94 (44/50)
42 71 FE B =HRE 18 95 (48/47) 922 81 ER Bk RERE 17 98 (44/54)
43 77 HK PN 13 90 (45/45) 93 82 £ —Ih 1R 15 97 (54/43)
4 771 Nk AR BBsL 9 86 (42/44) 94 82 {EARK B XA 14 96 (51/45)
45 78 % BIU g =8 20 98 (55/43) 95 82 % M — ERH 10 92 (49/43)
46 78 =ik & EREE 23 101 (54/47) 96 82  [faER %8 =HEE 14 96 (50/46)
47 78 B FWER R/A—Hav 16 94 (50/44) 97 82 HiE B Bk 18 100 (52/48)
48 18 X= R— =HEE 30 108 (57/51) 98 82 IkEk EF— EEEE 7 89 (46/43)
49 78 BB ' K 13 91 (48/43) 99 82 M —IF YJL—Mus 16 98 (50/48)
50 78 % i —Ep & 22 100 (53/47) 100 82 % 5K HiE EHRE 32 114 (57/57)
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BEISAT : R/N\—03D T )L 7EEE PAR 72 BRI TERE
(BF) F4/MI=L¥ 15— 6444Y [2J=LF4—2R 5523Y [3]=70k 56037 SINE ;1464
JEfi. NET i E S B PHC 1R (OUT/IN) JEfL NET i ES il PHC 1R (OUT/IN)
101 82 {£fAAK HEIE EHEE 22 104 (52/52)
102 82 HiE #HE =HRE 34 116 (57/59)
103 82  Ki e JL—Mus 10 92 (45/47)
104 82 HHF ®HE o 10 92 (44/48)
105 82 s {&EIL ER #oam 6 88 (42/46)
106 82 EiE & e 23 105 (49/56)
107 83 RE &HA SHEE 15 98 (52/46)
108 83 A#H EE EOH 11 94 (49/45)
109 83 AX ¥ =EEE 24 107 (55/52)
110 83 ¢ #iK Kt 16 99 (49/50)
111 83 f{kfk K— =HEE 12 95 (47/48)
112 84 ZE@gE 1 =HE 14 98 (53/45)
113 84 3XH B RER 10 94 (49/45)
114 84 EiE 85 ezE; 12 96 (50/46)
115 84 % ZEQO - PN’ | 14 98 (49/49)
116 84 EFE - =HEE 22 106 (48/58)
117 84 £k E5Eih #HoO#H 18 102 (46/56)
118 85 ZEABR EZ #HoO#H 15 100 (54/46)
119 85 EJII JE—ER JL—Mus 13 98 (48/50)
120 85 ¢ =ik # ERRE 28 113 (54/59)
121 86  P4R4 A OEHEE 19 105 (52/53)
122 86 ity EX BHsL 15 101 (50/51)
123 86 JII%E Mk Kig 10 96 (47/49)
124 87 I§ KR =mRE 22 109 (60/49)
125 87 < {kBE  J\ER M&BELX 20 107 (57/50)
126 87 1% HE BB 14 101 (53/48)
127 87 HE g B4 12 99 (51/48)
128 87 4t Rth BHxL 13 100 (51/49)
129 87 #iK Bx #osE 12 99 (51/48)
130 87 Frh B HREIERE 13 100 (47/53)
131 88 #IL MR Kk 25 113 (59/54)
132 838 ikA Eif =HRE 26 114 (57/57)
133 88 EEF E K 20 108 (53/55)
134 88 &k =RA EB 16 104 (50/54)
135 90 ¥ PR B =RRE 24 114 (57/57)
136 95 % XH EB RmEEE 15 110 (52/58)
137 96 >« 83K fBAKER Mk 13 109 (59/50)
EiE =iE 5E EHRE 15

Ri5 i o ERE 14

Ri5 RE Al SEEE 20

Ri5 MR R EEHE 17

Ri5 fErRKRK E #Ho#H 9

Ri5 fErK = X 22

Ri5 FE 5B =HEE 14

Ri5 IVNSD Zif =6 14

Ri5 sl F— A& 19
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JEfi. NET i E S B PHC 1R (OUT/IN) JEfL NET i ES il PHC 1R (OUT/IN)
1 680 XK#H HhE HoLE 10 78 (39/39) BG

2 720FE AS ez 6 78 (39/39) BG

3 7204l EHBF EHRE 25 97 (48/49)

4 730 %EWL R AmLE 17 90 (45/45)

5 740 KH H#I WaeLX 18 92 (47/45)

6 76 0% =EBEF HSEHEE 11 87 (45/42)

7 17TO0FHEFE MWHmF e 18 95 (48/47)

8 770HF EBEF #osE 18 95 (46/49)

9 T78O0ME FxX HO® 18 96 (49/47)

10 78O0 %k #HF =EWHRE 21 99 (47/52)

1179 #H BE WA 6 85 (44/41)

12 79 #K BEE HOH 18 97 (47/50)

13 80 KM #HE o 11 91 (48/43)

14 80 EAINFRF =pEE 24 104 (53/51)

15 81 % R&/JI A% #HoOH 13 94 (44/50)

16 82 HHA HF W& 17 99 (49/50)

17 82 £ ¥ sbsE 10 92 (46/46)

18 85 {kBE HXF #HOLE 6 91 (39/52)

19 86 /M HE Bkt 7 93 (50/43)

20 87 idE LOSR EHRE 24 111 (57/54)

21 87 {E#E ERF JL—MUAE 20 107 (55/52)

22 90 S /NE EF0 WA 36 126 (65/61)

23 90 *x #iK LAHAF RESERE 14 104 (51/53)
Ri5 fngE  X=E BEUME 15
Ri5 AR 87 g 13
Ri5 L2 0 a1 flig 13
Ri5 BEE svHh #HoLE 12
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